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01 A28l 3,453,811 4,000,000 AB46,189
ORg AEHUAE 78 2+ 24 SA
3,453,811,000& x14] 3,453,811
SEINEAHE 29 550,000 600,000 /50,000
SEINEFHE 22 550,000 600,000 /50,000
306 £= 550,000 600,000 250,000
01 9= 560,000 600,000 50,000
OSEINFAMEH 28 N
550,000,000 » 14 550,000
HHS2LIH(AZIAADL) 52,190 0 52,190
JI2EH(AZ=ASD) 52,190 0 52,190
JI2EH(AZ =LA 52,190 0 52,190
201 el 26,510 0 26,510
01 At2t2ltl 26,510 0 26,510
Odgt==H| 19,790
-JIZARE S0 100,000& %10 1,000
RS = =] 150,000 *32] 450
-Sgl gxz 400,000 = 1CH* 122 4,800
“SAEX 7Y 23,0003 102t A% 123 2,760
-S80| |XZ2HI(EH, E8 &)
500,000 *1CH+62] 3,000
- Xz 30,000 *1CH* 122 360
-SJI1E &0 SRz
35,000~ 1CH =122 420
R IR ST A
2,000 *1,00001 <25 4,000
-YRFA ST WA (M2 S)
3,000,000 %14 3,000
O= gl 6.720
~ARXAA D HARFA S20AHI
8,000& 10 7L+ 12 6,720
202 04t 24,000 0 24,000




SN AREARD
M HYPHAH|(AE=AADL)
Sl J2HI(AZ =AY (CH9: /M)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 =Lxoit| 24,000 24,000
OAZXNAT ADEA 01t
20,0002 x10F 10 122 24,000
208 22| 1,680 1,680
M EPASHALFI| 1,680 1,680
OAEZ=AH I 175,000 * 123 «80% 1,680




